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1 Introduction
For the UL coexistence simulation involving E-UTRA, it was proposed in [1] to use a two-level E-UTRA UE ACLR model because the actual ACLR depends on the number of RBs used and those RBs’ location relative to a victim channel [1][2]. However, it is not determined how to arrive at a single value based on the simulation results that can be written in the specification. To address this issue, this paper presents the method.    
2 Number of RBs per UE
In [1], 4 RBs per E-UTRA UE were proposed for the scenario 5MHz E-UTRA (aggressor) -> UTRA (victim) and 8 RBs per LTE UE for the scenario 10MHz E-UTRA (aggressor) -> 10MHz E-UTRA (victim). However, to obtain a comprehensive picture of the UE emission, it is preferable to cover more representative cases where different numbers of RBs are used by a UE. Therefore, it is proposed to simulate the following cases for each scenario:

5MHz E-UTRA (aggressor) -> UTRA (victim): 

· Case 1: 2 RBs per UE, leading to 6 active UEs per sector

· Case 2: 4 RBs per UE, leading to 3 active UEs per sector

· Case 3: 12 RBs per UE, leading to 1 active UE per sector

10MHz E-UTRA (aggressor) -> 10MHz E-UTRA (victim): 

· Case 1: 4 RBs per UE, leading to 6 active UEs per sector

· Case 2: 8 RBs per UE, leading to 3 active UEs per sector

· Case 3: 24 RBs per UE, leading to 1 active UE per sector

Note that for the 5MHz E-UTRA (aggressor) -> UTRA (victim) scenario, while one extreme case where one UE uses 12RBs is included, the other extreme case where one UE uses 1 RBs is not. This is because the out-of-band emission level for one RB is lower than that for 2RBs due to the existence of in-channel guard band in both E-UTRA channel and UTRA channel. The same reasoning applies to the 10MHz E-UTRA (aggressor) -> 10MHz E-UTRA (victim) scenario. 
For case 1 and 2, the two-level ACLR model similar to what was proposed in [1] can be used. The details are presented in Table 1 to 4. For case 3, since one UE uses all the RBs in the channel, the regular one-level ACLR model is used.   

Table 1. ACLR model for 5MHz E-UTRA -> UTRA, 2 RBs per UE

	Location of aggressor 2RBs (bandwidth = 2*375 kHz) 
	Adjacent to victim channel edge
	2RB away from victim channel edge

	Further away from channel edge

	ACLR dBc/3.84MHz
	30 + X
	43+X
	43+X

	X serves as the step size for simulations, X = -5, 0, 5, 10 dB


Table 2. ACLR model for 5MHz E-UTRA -> UTRA, 4 RBs per UE

	Location of aggressor 4RBs (bandwidth = 4*375 kHz) 
	Adjacent to victim channel edge
	at least 4 RBs away from channel edge

	ACLR dBc/3.84MHz
	30 + X
	43+X

	X serves as the step size for simulations, X = -5, 0, 5, 10 dB


Table 3. ACLR model for 10MHz E-UTRA -> 10MHz E-UTRA, 4 RBs per UE

	Location of aggressor 4RBs (bandwidth = 4*375 kHz) 
	Adjacent to edge of victim RBs 

(bandwidth = 4* 375kHz)
	4RBs away from edge of victim RBs
	Further away from edge of victim RBs

	ACLR dBc/4*375 kHz
	30 + X
	43+X
	43+X

	X serves as the step size for simulations, X = -5, 0, 5, 10 dB


Table 4. ACLR model for 10MHz E-UTRA -> 10MHz E-UTRA, 8 RBs per UE

	Location of aggressor 8RBs (bandwidth = 8*375 kHz) 
	Adjacent to edge of victim RBs

(bandwidth = 8* 375kHz)
	at least 8 RBs away from edge of victim RBs

	ACLR dBc/8*375 kHz
	30 + X
	43+X

	X serves as the step size for simulations, X = -5, 0, 5, 10 dB


In Table 1-4, the difference between the two ACLR levels is 13dB, which is based on measurements under reasonable operating conditions. It is independent of the number of resource blocks and the channel bandwidth, provided the adjacent channel offset and bandwidth are scaled corresponding to the number of RBs used. 
3 Arriving at a Single ACLR Value
In the scenario of 5MHz LTE->UTRA, case 1 and 2 will be simulated with a two-level ACLR model presented in Table 1 and 2 with changing values of X. For case 3, a single ACLR value 30+X dBc/3.84MHz, where X = -5, 0, 5, 10 dB can used. For each case, the value of X that leads to 5% or close to 5% capacity loss can be obtained. Among the three cases, the worst or highest X value, denoted by X*, will be chosen. Then the ACLR for UE could be defined as (30+X*) dB/3.84MHz in the standard. 

 
Similarly, for 10MHz LTE->10MHz LTE, case 1 and 2 will be simulated with a two-level ACLR model presented in Table 3 and 4 with changing values of X. For case 3, a single ACLR value 30+X dBc/10MHz, where X = -5, 0, 5, 10 dB can used. For each case, the value of X that leads to 5% or close to 5% throughput loss (a tentative criterion for the time being) can be obtained. Among the three cases, the worst or highest X value, denoted by X*, will be chosen. Then the ACLR for UE could be defined as Y dB/10MHz in the standard, where Y can be obtained based on X* by averaging over all RBs in the 10MHz channel. 

4 Conclusion

This contribution presents the way of arriving at an ACLR specification based on the simulation of several representative RB usage cases for E-UTRA uplink coexistence scenario. 
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� In other words, there are 2RB-wide guard band between the aggressor RBs and the victim channel. The same interpretation applies below.
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